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INTERMEDIATE EXAMINATION – 2022  

(ANNUAL) 

MODEL SET 

AGRICULTURE (ELECTIVE) 

 

I.Sc. (TH.)  

Total no of questions: - 70+20+6= 96     Total No. of Printed Pages:- 

    Time: 3 Hours 45 Minutes             
 

Full Marks
 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk dzekad ¼10 vadks dk ½ vo’; fy[ksA 

Candidates must enter his / her question Booklet Serial No. (10 Digits) in 

the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as 

practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time have been allotted for the candidates to read the 

questions carefully. 

 ;g iz’u&i= nks [k.Mksa esa gS] 

This question paper has two sections: Section-A and Section-B

Subject Code:- 120 



2 
 

6- [k.M&v esa 70 oLrqfu"B iz’u gS] ftuesa ls fdUgha 35 iz’uksa dk mrj nsuk vfuok;Z gSA 35 

iz’uksaa ls vf/kd dk mrj nsus ij izFke 35 dk gh ewY;kadu gksxk gSA izR;sd Ikz’u ds fy, 1 

vad fu/kkZfjr gSA lgh mÙkj dks miyC/k djk;s x;s x, OMR mÙkj i=d esa fn, x, lgh 

fodYi dks uhys @dkys ckWy isu ls izxk<+ djsA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke 

vekU; gksxkA 

 

In Section- A, there are 70 objective type questions, out of which any 35 

questions are to be answered. If more than 35 questions are answered 

then only first 35 answer will be evaluated. Each question carries 1 

marks. Darken the circle with blue/ black ball pen against the correct 

option on OMR Answer sheet provide to you. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will be 

treated as invalid. 

7-  [k.M& c esa 20 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsuk vfuok;Z gSA 

izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA blds vfrfjDr bl [k.M esa esa 06 nh?kZ mÙkjh; 

iz’u Hkh fn, x, gSa] izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA ftuesa ls fdUgha 03 iz’uksa 

ds mÙkj nsuk vfuok;Z gSA  

In section- B, there are 20 Short answer type questions, Out of which 

any 15 questions are to be answered. Each question carrying 2 marks. Apart 
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from this, there are 06 Long answer type questions, out of which any 3 

questions are to be answered. Each question carries 5 marks.  

8- fdlh rjg ds bysDVªkWfud&;a= dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

SECTION- A  

Objective Type Questions 

 
iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds fy, pkj fodYi fn, x, gSa] ftuesa ls ,d lgh 

gSA vius }kjk pqus x;s lgh fodYi dks OMR - ’khV ij fpfUgr djsaA fdUgha 35 iz’uksa dk mÙkj nsA

            35x1=35 

Question No.- 1 to 70 have four options, out of which only one is correct. You have 

to mark your selected option, on the OMR – SHEET.Answers any 35 questions.       

35x 1=35 

1- buesa ls dkSu lCth Qly gS \ 

(A) /kku     (B) puk 

(C) ewyh     (D) buesa ls dksbZ ugha 

Which of the following is vegetable crop ? 

(A) Rice    (B) Gram 

(C) Radish    (D) None of These 
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2- buesa ls dkSu nyguh Qly gS \ 

(A) vjgj    (B) eDdk 

(C) xsagw¡     (D) buesa ls dksbZ ugha 

Which of the following is pulse crop ? 

(A) Arhar    (B) Maize 

(C) Wheat    (D) None of these 

3- buesa ls dkSu mRrstd Qly gS \ 

(A) eDdk    (B) puk 

(C) rEckdw    (D) buesa ls dksbZ ugha 

Which of the following is stimulant crop ? 

(A) Maize    (B) Gram 

(C) Tobacco    (D) None of these 

4- bues ls dkSu ls jch Qly gSa \ 

(A) /kku     (B) eDdk 

(C) vkyw    (D) buesa ls dksbZ ugha 

Which of the following is Rabi crop ? 

(A) Rice    (B) Maize 

(C) Potato    (D) None of these 
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5- buesa ls dkSu Qy okyh Qly gSa \ 

(A) cSxu    (B) VekVj 

(C) dVgy    (D) buesa ls dksbZ ugha 

Which of the following is fruit crop ? 

(A) Brinjal    (B) Tomato 

(C) Jackfruit    (D) None of these 

6- buessa ls dkSu ’kdZjk okyh Qly gS \ 

(A) ewyh     (B) xsgw¡ 

(C) xUUkk    (D) buesa ls dksbZ ugha 

Which of the following is sugar crop ? 

(A) Radish    (B) Wheat 

(C) Sugarcane   (D) None of these 

7- buesa ls dkSu rsyguh Qly gS \ 

(A) rhlh    (B) puk 

(C) eVj     (D) buesa ls dksbZ ugha 

Which of the following is oil seed crop ? 

(A) Linseed    (B) Gram 

(C) Pea    (D) None of these 
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8- eDdk dk cht nj fdruk gSa \ 

(A) 100 fd-xzk@ gs0   (B) 20 fd-xzk-@gs0 

(C) 250 fd-xzk@gs0   (D) buesa ls dksbZ ugha 

What is the seed rate of maize ? 

(A) 100 kg/ha    (B) 20 kg/ha 

(C) 250 kg/ha    (D) None of these 

9- vjgj dh mRifr LFky dgk¡ gS \ 

(A) phu     (B) Hkkjr 

(C) usiky    (D) buesa ls dksbZ ugha 

Where is the origin place of Redgram (Arhar) ? 

(A) China    (B) India 

(C) Nepal     (D) None of these 

10- ns’kh puk dk cht nj D;k gS \ 

(A) 100&150 fd-xzk@gs0  (B) 175&200 fd-xzk@gs0 

(C) 75&80 fd-xzk@gs0   (D) buesa ls dksbZ ugha 

What is the seed rate of Desi chana ? 

(A) 100-150 kg/ha    (B) 175-200 kg/ha 

(C) 75-80 kg/ha    (D) None of these 
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11- efYydk ¼ds&75½ fdl Qly dk izHksn gS \ 

(A) puk      (B) elwj 

(C) xsgw¡      (D) buesa ls dksbZ ugha 

Malika (K-75) is the variety of which crop ? 

(A) Gram     (B) Lentil 

(C) Wheat     (D) None of these 

12- ikble lVkboe ,y fdl Qly dk uke gSa \ 

(A) eVj     (B) puk 

(C) eDdk    (D) buesa ls dksbZ ugha 

Pisum satium L is the scientific name of which crop ? 

(A) Pea    (B) Gram 

(C) Maize    (D) None of these 

13- iwlk izHkkr fdl Qly dk izHksn gS \ 

(A) eDdk    (B) xUuk 

(C) eVj     (D) buesa ls dksbZ ughas 

Pusa Prabhat is the variety of which crop ? 

(A) Maize    (B) Sugarcane 

(C) Pea    (D) None of these 
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14- eawx dk cht nj D;k gS \ 

(A) 60&70 fd0xzk0@gs-  (B) 25&30 fd-xzk-@ gs- 

(C) 5&10 fd0xzk0@ gs-  (D) buesa ls dksbZ ugha 

What is the seed rate of green gram ? 

(A) 60-70 kg/ha   (B) 25-30 kg/ha 

(C) 5-10 kg/ha   (D) None of these 

15- iapkyh fdl Qly dk izHksn g S\ 

(A) eDdk    (B) rksjh 

(C) xUuk     (D) buesa ls dksbZ ugha 

Panchali is the variety of which crop ? 

(A) Maize    (B) Tori 

(C) Sugarcane   (D) None of these 

16- o:.kk fdl Qly dk izHksn gS \ 

(A)   xUuk    (B)   eDdk 

(C)   ljlksa    (D)   buesa ls dksbZ ugha 

Varuna is the variety of which crop ? 

(A)  Sugarcane   (B)     Maize 

(C) Sarason    (D)     None of these 
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17- jkbZ dk mRifr LFky dgk¡ gS \ 

(A) phu      (B) Hkkjr 

(C) usiky    (D) buesa ls dksbZ ugha 

Where is the origin place of Indian Mustard (Rai) ? 

(A) China    (B) India 

(C) Nepal    (D) None of these 

18- xjek ¼tk;n½ ekSle dk izkjEHk dc gksrk gS \ 

(A) Qjojh& ekpZ   (B) tuojh& Qjojh 

(C) twu&tqykbZ    (D) buesa ls dksbZ ugha 

When summer (Ziad) season starts ? 

(A) February- March  (B) January- February 

(C) June- July   (D) None of these 

19- buesa ls dkSu fefJr [ksrh dk mnkgj.k gSa \ 

(A) eDdk$vjgj   (B) eDdk$eawx 

(C) eDdk$vkyw   (D) buesa ls dksbZ ugha 

Which of the following is an example of mixed cropping ? 

(A) Maize+Redgram  (B) Maize+Mung 

(C) Maize+Potato   (D) None of these 
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20- buesas ls dkSu vUrjorhZ [ksrh dk mnkgj.k gS \ 

(A) eDdk$mM+n   (B) Tokj$vjgj 

(C) tkS$puk    (D) buesa ls dksbZ ugha 

Which of the following is an example of inter cropping ? 

(A) Maize+Urd   (B) Sorghum+Redgram 

(C) Barley+Gram   (D) None of these 

21- buesa ls dkSu cgq eatyh [ksrh dk mnkgj.k gSa \ 

(A) puk$rhlh    (B) tkS$puk 

(C) xUuk$/kfu;k   (D) buesas ls dksbZ ugha 

Which of the following is an example of multi storied cropping ? 

(A) Gram+Linseed   (B) barley+Gram 

(C) Sugarcane+Coriender (D) None of these 

22- buesa ls dkSu lrgh flapkbZ dh fof/k gS \ 

(A) psd csflu fof/k   (B) cksMZj fof/k 

(C) ty Iykou fof/k   (D) buesa ls lHkh 

Which of the following is the method of Surface irrigation? 

(A) Check Basin Method  (B) Boarder Method 

(C) Flooding    (D) All of these 
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23- dsUnzh; yo.krk vuqla/kku laLFkku dgk¡ gS \ 

(A) djuky    (B) ubZ fnYyh 

(C) iVuk    (D) buesa ls dksbZ ugha 

Where is central salinity Research Institute ? 

(A) Karnal    (B) New Delhi 

(C) Patna    (D) None of these 

24- fn;kjk dk nwljk uke D;k gS \ 

(A) Vky     (B) pkSj 

(C) nksuksa    (D) buesa ls dksbZ ugha 

What is the another name of Diara ? 

(A) Tal     (B) Chaur 

(C) Both    (D) CNone of these 

25- {kkjh; e`nk dk ih0p0 eku fdruk gksrk gS \ 

(A) 8-5     (B) 8-5 ls de 

(C) 8-5 ls vf/kd   (D) buesa ls dksbZ ugha 

What is the P.H. value of alkaline soil ? 

(A) 8.5     (B) Less than 8.5 

(C) More than 8.5   (D) None of these 
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26- vEyh; eǹk dk ih0p0 eku fdruk gksrk gS \ 

(A) 7     (B) 7 ls de  

(C) 7 ls T;knk    (D) buesa ls dksbZ ugha 

What is the P.H. Value of Acidic soil ? 

(A) 7     (B) Less than 7 

(C) More than 7   (D) None of these 

27- buesa ls dkSu ,d o"khZ; [kjirokj gS \ 

(A) iqVql     (B) eksFkk 

(C) iRFkj pÍk    (D) buesa ls dksbZ ugha 

Which of the following is annual weed ? 

(A) Puttus    (B)  Motha 

(C) Pathar Chatta   (D) None of these 

28- buesa ls dkSu ,d cht&i=h [kjirokj gSa \ 

(A) eksFkk    (B) cFkqvk 

(C) edks;    (D) buesa ls dksbZ ugha 

Which of the following is mono cotyledonous weed ? 

(A) Motha    (B) Bathua 

(C) Makoy    (D)  None of these 
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29- buesa ls dkSu ifÙk;ksa ls iSnk gksus okyk [kjirokj gS \ 

(A) iRFkj pÍk    (B) cFkqvk 

(C) ihyk /krqjk    (D) buesa ls dksbZ ugha 

Which of the following is propogated by leaves ? 

(A) Pathar chatta   (B) Bathua 

(C) Peela Dhatura   (D) None of these 

30- buesa ls dkSu tM+ks ls iSnk gksus okyk [kjirokj gS \ 

(A) cFkqvk    (B) fgj.k[kqjh 

(C) nwc     (D) buesa ls dksbZ ugha 

Which of the following is reproduced by roots ? 

(A) Bathua    (B) Hirankhuri 

(C) Dub    (D) None of these 

31- ,Vªkftu D;k gSa \ 

(A) moZjd    (B) dhVuk’kd 

(C) - [kjirokjuk’kh   (D) buesa ls dksbZ ugha 

What is Atrazine ? 

(A) Fertilizer    (B) Insecticide 

(C) Weedicide   (D) None of these 
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32- buesa ls dkSu xzh"e dky ds [kjirokj gSa \ 

(A) fiijh    (B) eksFkk 

(C) ihyk /krqjk    (D) buesa ls dksbZ ugha 

Which of the following is summer weed ? 

(A) Pipari    (B) Motha 

(C) Peela Dhatura   (D) None of these 

33- buesa ls dkSu jsfxLrkuh [kjirokj gSa \ 

(A) ukxQuh    (B) cFkqvk 

(C) eksFkk     (D) buesa ls dskbZ ugha 

Which of the following is xerophytic weed ? 

(A) Nagfani    (B) Bathua 

(C) Motha    (D)  None of these 

34- buesa ls dkSu gjh [kkn ds fy, mi;qZDr Qly gS \ 

(A) xUuk    (B) eDdk 

(C) yksfc;k    (D) buesa ls dksbZ ugha 

Which of the following is suitable crop for Green manure ? 

(A) Sugarcane   (B) Maize 

(C) Cowpea    (D) None of these 
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35- buesa ls dkSu tSfod [ksrh ds fy, mi;qDr QQw¡nhuk’kh gSa \ 

(A) VªkbZdksxzkek    (B) FkhesV 

(C) jkbtksfc;e    (D) buesa ls dksbZ ugha 

Which of the following is used for funjicide in organic farming? 

(A) Trichograma   (B) Thimet 

(C) Rhijobium   (D) None of these 

36- buesa ls dkSu thok.kq [kkn gSa \ 

(A) ;wjh;k    (B) ,tksVkscSDVj 

(C) ,l0,l0ih     (D) buesa ls dksbZ ugha 

Which of the following is biofertilizer? 

(A) Urea    (B) Azotobacter 

(C) SSP    (D) None of these 

37- fcgkj esa lcls T;knk mRiknu fdl Qly dk gSa \ 

(A) eDdk    (B) puk 

(C) pkoy    (D) buesa ls dksbZ ugha 

Which crop has the highest production in Bihar ? 

(A) Maize    (B) Gram 

(C) Rice    (D) None of these 
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38- y?kq fdlku ds tksr dk vkdkj D;k gS \ 

(A) 1-0 ls 2-0 gs0   (B) 2 ls 4 gs0 

(C) 1-0 gs0 rd   (D) buesa ls dksbZ ugha 

What is the land holding size of small farmer ? 

(A) 1.0 to 2 hectare  (B) 2 to 4 hectare 

(C) up to 1.0 hectare  (D) None of these 

39- buesa ls dkSu e’kkys okyh Qly gSa \ 

(A) vnjd    (B) pk; 

(C) ukfj;y    (D) buesa ls dksbZ ugha 

Which of the following is spice crop ? 

(A) Ginger    (B) Tea 

(C) Coconut     (D) None of these 

40- buesa ls dkSu m".k dVh;ca/kh; tyok;q dk Qy gS \ 

(A) vaxwj    (B) vke 

(C) lsc     (D) buesa ls dksbZ ugha 

Which of the following is tropical fruit ? 

(A) Garpes    (B) Mango 

(C) Apple    (D) None of these 
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41- buesa ls dkSu vEyh; e`nk ds fy, mi;qDr Qy gSa \ 

(A) dsyk    (B) vukukl 

(C) vke     (D) buesa ls dksbZ ugha 

Which of the following fruit is suitable for acidic soil ? 

(A) Banana    (B) Pineapple 

(C) Mango    (D) None of these 

42- buesa ls dkSu xzh"edkyhu lCth gSa \ 

(A) djsyk    (B) vkyw 

(C) QwyxksHkh    (D) buesa ls dksbZ ugha 

Which of the following is summer vegetable ? 

(A) Bittergourd   (B) Potato 

(C) Cauliflower   (D) None of these 

43- buesa ls dkSu yEcs izdk’k dky dh lCth gS \ 

(A) eVj     (B) [khjk 

(C) vkyw    (D) buesa ls dksbZ ugha 

Which of the following is long day vegetable ? 

(A) Pea    (B) Cucumber 

(C) Potato    (D) None of these 
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44- buesa ls dkSu Hkkjr dh lcls izeq[k Qly gS \ 

(A) iihrk    (B) pk; 

(C) dsyk    (D) buesa ls dksbZ ugha 

Which of the following is an important drink crop of India ? 

(A) Papaya    (B) Tea 

(C) Banana    (D) None of these 

45- buesa ls fdl Qly dk mi;ksx lCth esa gksrk gS \ 

(A) vke     (B) yhph 

(C) dVgy    (D) buesa ls dksbZ ugha 

Which of the following fruit is used in vegetable ? 

(A) Mango    (B) Litchi 

(C) jackfruit    (D) None of these 

46- buesa ls fdl Qy dk mi;ksx dSUMh cukus esa gksrk gS \ 

(A) yhph    (B) vke 

(C) csj     (D) buesa lss dksbZ ugha 

Which of the following fruit is used in preparation of candy ? 

(A) Litchi    (B) Mango 

(C) Ber    (D) None of these 
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47- fuEu esa ls fdl Qy dh fdLe pdS;k gSa \ 

(A) vke     (B) ve:n 

(C) vk¡oyk    (D) buesa ls dksbZ ugha 

Which of the following fruit has the variety of Chakaiya ? 

(A) Mango    (B) Guava 

(C) Aonla    (D) None of these 

48- fuEu esa ls dkSu vke dh fdLe gS \ 

(A) efYydk    (B) ’kkgh 

(C) ysV csnkuk    (D) buesa ls dksbZ ugha  

Which of the following is the variety of mango ? 

(A) Mallika    (B) Shahi 

(C) late Bedana   (D) None of these 

49- buesa ls dkSu Qy {kkjh; eǹk ds fy, mi;qDr gSa \ 

(A) vk¡oyk    (B) vukukl 

(C) vathj    (D) buesa ls dksbZ ugha 

Which of the following fruit is suitable for alkaline soil ? 

(A) Aonla    (B) Pineapple 

(C) Fig     (D) None of these 
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50- buesa ls dkSu Qy Qyksa dk jktk gSa \ 

(A) dsyk    (B) iihrk 

(C) vke     (D) buesa ls dksbZ ugha 

Which of the following fruit is king of fruits ? 

(A) Banana    (B) Papaya 

(C) Mango    (D) None of these 

51- egewncgkj fdl Qy dh fdLe gSa \ 

(A) dsyk    (B) vke 

(C) ve:n    (D) buesa ls dksbZ ugha 

Mahmudbahar is the variety of which fruit ? 

(A) Banana    (B) Mango 

(C) Guava    (D) None of these 

52- vkyw esa iNsrh >qylk fdlds dkj.k gSa \ 

(A) QQw¡n    (B) thok.kq 

(C) fo"kk.kq    (D) buesa ls dksbZ ugha 

What is the cause of late blight in potato ? 

(A) Fungus    (B) Bacteria 

(C) Virus    (D) None of these 
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53- dsUnzh; V~;wcj dzkWi jhlpZ laLFkku dgk¡ gS \ 

(A) dsjy    (B) fcgkj 

(C) ;w0ih0    (D) buesa ls dksbZ ugha 

Where is central tuber crop Research Institue ? 

(A) Kerla    (B) Bihar 

(C) U.P.    (D) None of these 

54- ikWyh gkWml esa mxkbZ tkusokyh izeq[k lCth Qly gS ------------- 

(A) vkyw     (B) f’keyk fepZ 

(C) ftehdan    (D) buesa ls dksbZ ugha 

Important vegetable grown in poly house is ………. 

(A) Potato    (B) shimla Mirch 

(C) Elephant foot   (D) None of these 

55- buesa ls dkSu ewyh dh fdLe gSa \ 

(A) iwlk ns’kh    (B) iwlk :ch 

(C) xtsUnz     (D) buesa ls dksbZ ughas 

Which of the following is the variety of Radish ? 

(A) Pusa Desi   (B) Pusa Ruby 

(C) Gajendra    (D) None of these 
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56- buesa ls fdldk eqjCck cukus esa mi;ksx gksrk gSa \ 

(A) ewyh     (B) vkyw 

(C) xktj    (D) buesa ls dksbZ ugha 

Which of the following is used in prepration of Murabba ? 

(A) Radish    (B) Potato 

(C) Carrot    (D) None of these 

57- Hkkjrh; df̀"k vuqla/kku laLFkku dgk¡ gS \ 

(A) iVuk    (B) u;h fnYyh 

(C) Hkksiky    (D) buesa ls dksbZ ugha 

Where is the Indian Agricultural Research Institute ? 

(A) Patna    (B) New Delhi 

(C) Bhopal    (D) None of these 

58- vkyw ds eq[; Qly ds cksus dk le; D;k gSa \ 

(A) 15 vDVwcj ls 15 uoEcj  (B) 15 flrEcj ls 15 vDVwcj 

(C) 15 fnlEcj ls 15 tuojh (D) buesa ls dksbZ ugha 

What is the sowing time of main crop of potato? 

(A) October 15 to November 15  

(B) September 15 to December 15 
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(C) December 15 to January 15  

(D) None of these 

59- vf[ky Hkkjrh; m|ku laLFkku dgk¡ gS \ 

(A) y[kuÅ    (B) iVuk 

(C) csxyq:    (D) buesa ls dskbZ ugha 

Where is Indain Institute of Horticultural Research ? 

(A) Lucknow    (B) Patna 

(C) Bengaluru   (D) None of these 

60- XySfM;ksyl fdl dqy dk ikS/kk gSa \ 

(A) ekyoSlh    (B) lksysuSlh 

(C) bfjMSlh    (D) buesa ls dksbZ ugha 

Gladiolus is the plant of which family ? 

(A) Malvaceae   (B) Solanaceae 

(C) Iridaceae    (D) None of these 

61- buesa ls dkSu dEiksftVh dqy dk ikS/kk gSa \ 

(A) xqykc    (B) Mgfy;k 

(C) xqynkmnh    (D) buesa ls dksbZ ugha 

Which of the following plant is of compositeae family ? 
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(A) Rose    (B) Dahlia 

(C) Chrysanthemum  (D) None of these 

62- buesa ls fdl Qwy ls xqydan curk gSa \ 

(A) xqynkmnh     (B) xsank 

(C) xqykc    (D) buesa ls dksbZ ugha 

Which of the following flower produces Gulkand ? 

(A) Chrysanthemum  (B) Marigold 

(C) Rose    (D) None of these 

63- buesa ls dkSu xsank dh fdLe gSa \ 

(A) iwlk vfiZrk    (B) fgekuh 

(C) dqanu    (D) buesa ls dksbZ ugha 

Which of the following is the variety of marigold ? 

(A) Pusa Arpita   (B) Himani 

(C) Kundan    (D) None of these 

64- xsank dk cht nj D;k gSa \ 

(A) 2 fd-xzk0@gs0   (B) 800 xzke@gs0 

(C) 5 fd0xzk0@gs0   (D) buesa ls dksbZ ugha 

What is the seed rate of marigold ? 
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(A) 2 kg/h    (B) 800 gm/h 

(C) 5 kg/h    (D) None of these 

65- buesa ls dkSu lqxaf/kr rsy cukus esa mi;qDr gS \ 

(A) xsank     (B) Mgfy;k 

(C) jtuhxa/kk    (D) buesa ls dskbZ ugha 

Which of the following flower is suitable for making scented oil ? 

(A) Marigold    (B) Dahlia 

(C) Tuberose   (D) None of these 

66- XySfM;ksyl dh mRifr LFky dgk¡ gS \ 

(A) Hkkjr    (B) nf{k.k vQzhdk 

(C) vesfjdk    (D) buesa ls dksbZ ugha 

Where is the origin place of Gladiolus? 

(A) India    (B) South Africa 

(C) America    (D) None of these 

67- buesa ls dkSu lqxa/kh; ikS/kk gSa\ 

(A) esaFkk     (B) VekVj 

(C) QwyxksHkh    (D) buesa ls dksbZ ugha 

Which of the following is Aromatic plant ? 
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(A) Mentha    (B) Tomato 

(C) Cauliflower   (D) None of these 

68- fgeky; fdl Qly dh fdLe gSa \ 

(A) yseuxzkl    (B) esaFkk 

(C) vkyw    (D) bues ls dksbZ ugha 

Himalay is the variety of which crop ? 

(A) Lemongrass   (B) Mentha 

(C) Potato    (D) None of these 

69- buesa ls fdl ikS/kk dk laiw.kZ mi;ksx gksrk gS \ 

(A) v’oxa/kk    (B) liZxa/kk 

(C) dkyes?k    (D) buesa ls dksbZ ugha 

Which of the following plant’s whole plant is used ? 

(A) Ashwagandha   (B) Sarpgandha 

(C) Kalmegh    (D) None of these 

70- buesa ls dkSu fpIl ds fy, mi;qDr gSa \ 

(A) vke     (B) vkyw 

(C) ve:)    (D) buesa ls dksbZ ugha 

Which of the following is suitable for chips ? 
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(A) Mango    (B) Potato 

(C) Guava    (D) None of these 

SECTION-B 

Short answer type questions 

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 2 vad 

fu/kkZfjr gSaA            (10x2=20) 

Question no. 1 to 20 are Short answer type. Answer any 10 questions. Each 

question carries 2 marks.        (10x2=20) 

1- puk ds nks fdLeksa ds uke fy[ksaA      2 

Write the names of two varities of Gram. 

2- Cksjks /kku ds nks fdLeksa ds uke fy[ksaA     2 

Write names of two varieties of Boro Rice ? 

3- Xksgw¡ esa ldjh iÙkh okys [kjirokj dk fu;a=.k D;k gSa \   2 

What is the control of narrow leaf of Weed in wheat ? 

4- nks pkjs okyh Qlyksa ds uke fy[ksa A     2 

Write two names of forage crops. 

5- Ckgqeatyh [ksrh ds nks mnkgj.k fy[ksA     2 

Write two examples of multi storied cropping ? 

6- Qly pØ D;k gSa \        2 



28 
 

What is crop rotation ? 

7- /kku dh dzkfUrd voLFkkvksa dks fy[ksaA     2 

Write critical stages of Rice. 

8- ikS/ksa ds fy, ty ds egRo dks fy[ksaA     2 

Write importance of water of plants. 

9- flapkbZ dh csflu fof/k dks fy[ksaA      2 

Write Basin method of irrigation. 

10- gjh [kkn D;k gS \        2 

What is green manuring ? 

11- Qly vo’ks"k ds iqu% pdz.k ds nks ykHk dks fy[ksA   2 

Write two advantages of crop residue recycling. 

12- feMks vkWjpfMZax D;k gSa \       2 

What is meadow orcharding ? 

13- nks dUn oxhZ; lfCt;ksa ds uke fy[ksaA     2 

Write names of two tuberous vegetables. 

14- Ikihrk ds mi;ksxksa dks fy[ksaA      2 

Write uses of papaya. 

15- Ikkyd ds nks fdLeksa ds uke fy[ksaA      2 

Write names of two varities of spinach (Palak). 

16- Ek’kkys okyh nks Qlyksa ds uke fy[ksaA     2 

Write names of two spice crop. 
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17- dUn okys nks Qwyksa ds uke fy[ksaA      2 

Write names of two tuberous flower. 

18- xqykc ds mi;ksxksa dks fy[ksaA      2 

What the uses of Rose. 

19- Qy ,oa lCth ds mrikn ds nks ifjj{kdksa dk uke fy[ksa A  2 

Write the name of two preservative for fruits and vegetables product. 

20- izlkj lekxzh ds nks uke fy[ksaA      2 

Write the names of two extension material. 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 5 vad 

fu/kkZfjr gSaA           (3x5=15) 

Question no. 21 to 26 are Long answer type questions. Answer any 3 questions. 

Each question carries 5 marks.       (3x5=15) 

21- mM+n dh [ksrh dk fuEufyf[kr ’kh"kZkdksa esa o.kZu djsA    5 

 ¼a½ okuLifrd uke ¼b½ mRifÙk ¼c½ mi;qDr feÍh  ¼d½  mUur izHksn  ¼e½  mit 

Describe the cultivation of Block gram (urad) under the following heads: 

(a) Botanical name (b) Origin (c) Suitable soil (d) Improved Varities (e) yield  

22- rksjh dh [ksrh dk fuEufyf[kr ’kh"kZdksa esa o.kZu djsaA    5 

¼a½ mRifÙk  ¼b½ forj.k ¼c½  mUur izHksn ¼d½  chtksipkj  ¼e½  [kkn ,oa moZjd 

Describe the cultivation of Tori under the following heads: 
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(a)  Origin  (b) Distribution  (c) Improved varities (d) seed treatment (e) Manure 

and fertilizer 

23- Hkwfe mi;ksx dks izHkkfor djus okys dkjdksa dks fy[ksaA   5 

Write the factors affecting land use. 

24- vkaoyk dh [ksrh dk fuEufyf[kr ’kh"kZdksa esa o.kZu djsA   5 

¼a½ mRifr ¼b½ tyok;q  ¼c½ izo/kZu  ¼d½ fdLesa  ¼e½ flapkbZ 

Describe the cultivation of radish under the following heads: 

(a) Origin  (b)  Climate  (c)  Propogation (d) Varities (d)  Irrigation 

25- ewyh dh [ksrh dk fuEufyf[kr ’kh"kZdksa esa o.kZu djsaA   5 

¼a½ dqy ¼b½ mUur fdLesa ¼c½ feÍh ¼d½ [kkn ,oa moZjd ¼e½ mit 

Describe the cultivation of Radish under the following heads: 

(a) Family (b) Improved varities (c) Soil (d) Manure and fertilizer (e) Yield 

26- jtuhxa/kk dh oSKkfud [ksrh dk o.kZu djsaA     5 

Describe the scientific cultivation of Tubesose. 

 

 

 


